Example    In the diagram below, a spider, S , is located on the wall 1.5m from the ceiling

 and 2m from the corner. The spider is heading to a spot on the opposite wall to

 a bug , B , located 1m from the floor and 1m from the corner. If the dimensions 

of the room are 8m × 10m × 3m , determine the shortest distance the spider

has to crawl to get the bug.
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Example    In the figure, XY is the diameter of a cylindrical glass. The circumference

    of the base circle of the glass is 48cm. An ant at a point A (which is 2cm

vertically below X ) on the outer surface of the glass. A drop of syrup is at

a point S (which is 5cm vertically below Y ) inside the glass. Find the

distance of the shortest path by which the ant can reach for the syrup.

(Thickness of the glass can be neglected)




Example 

[image: image1.png]A cylindrical storage tank has a radius of 4 m and a height of 24 m. A staircase allowing access
from the ground to the top of the tank, circles the tank twice. Determine the length of the inner
edge of this staircase.






Example   

[image: image2.png]A cylindrical storage tank has a radius of 6 metres and a height of 18 meters. A staircase
allowing access from the ground to the top of the tank rises at an angle of elevation of 20°.
Determine the length of the inner edge of this staircase.
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